### CAMPAIGN FINANCE STATEMENT SUMMARY CUMULATIVE TOTALS TO DATE QUALIFIED SMALL CONTRIBUTIONS

#### AND

### **EXPENDITURES FROM QUALIFIED SMALL CONTRIBUTIONS**

Name of Candidate	Michael Garcia	Position Sought	City Councilor
Mailing Address	1632 Jay St	District No.	2
	Santa Fe, NM 87505		
Email Address	michael4santafe@gmail.com	Phone No.	(505)440-6928
REPORTING PERIOD	10/10/2023	то	10/30/2023

CUMULATIVE TOTALS TO DATE:			
CONTRIBUTIONS	\$7,500.00		
GRAND TOTAL TO DATE	\$7,500.00		

CUMULATIVE TOTALS TO DA	ſE:
EXPENDITURES	\$6,650.26
CASH ON HAND	\$849.74
GRAND TOTAL TO DATE	\$7,500.00

### **CAMPAIGN FINANCE STATEMENT SUMMARY QUALIFIED SMALL CONTRIBUTIONS** AND **EXPENDITURES FROM QUALIFIED SMALL CONTRIBUTIONS**

Name of Candidate	Michael Garcia		
Position Sought	City Councilor		District No. 2
REPORTING PERIOD	10/10/2023	то	10/30/2023
	THIS REPORTING	PERIO	D
Small Qualified Contributi	ons		\$7,500.00
Total Expenditures from (	Qualified Small Contributions		\$1,234.10

### CAMPAIGN FINANCE STATEMENT QUALIFIED SMALL CONTRIBUTIONS

Name of Candidate	Michael Garcia			
Position Sought	City Counclior	District No	o. <u>2</u>	
Reporting Period	10/10/2023	то	10/20/2023	
Total of Contributions this Reporting Period:		\$0.00		
Cumulative Total of C	Contributions to Date (Including this Report	):	\$11,250.00	

Date Received	Name, Home Address, Occupation and Name of Employer	Cash/Check Credit Card Other	Amount	Contributor Cumulative Total

(ATTACH ADDITIONAL PAGES AS NEEDED)

Page Total

\$0.00

## CAMPAIGN FINANCE STATEMENT EXPENDITURES FROM QUALIFIED SMALL CONTRIBUTIONS

Name of Candidate	Michael Garcia			
Position Sought	City Councilor	District No.	2	
Reporting Period	10/10/2023	то	10/30/2023	
Total of Expenditures t	his Reporting Period:		\$1,234.10	
Cumulative Total of Ex	penditures to Date (Including this Report):		\$10,400.26	

Date Expended	Name of Individual or Business and Mailing Address Purpose of Expenditure	Method of Payment	Amount
	Don Mickey Designs		
	1530 Girard Blvd. NE, Albuquerque, NM 87106		
10/13/23	campaign yard signs	debit card	\$476.78
	KSWV Radio 99.9 FM/810 AM		
	PO Box 1088, Santa Fe, NM 87504		
10/24/23	campaign radio advertisement	check	\$757.32

(ATTACH ADDITIONAL PAGES AS REQUIRED)

Page Total \$1,234.10

1100053553 THRU 10-30-23 TRANSACTI	ON SYSTEM - RESEARCH STATEMENT	г 20-700
MICHAEL GARCIA FOR CITY COUNCILMAN	BAL AS OF 10-23-23	1,607.06
1632 JAY STREET	+DEP/CR 0	.00
SANTA FE NM 87505	-CK/DR 0	.00
	-SVC CHARGE	.00
	+INT PAID	.00
	CURRENT BAL	1,607.06
Pst Dt TC Description	Amount	Balance
Eff Dt Serial Number	Str/Run/Bat/Seq#	
	DRCR/PBF	
OF A FEMERIE COMPTERE		

STATEMENT COMPLETE

### Don Mickey Designs, Inc.

1530 Girard Blvd. NE Albuquerque, NM 87106 505-256-7031

### Invoice

Date	Invoice No.	
10/13/23	327253	

Bill To
Michael Garcia
for Santa Fe City Council

Ship To	i wij		

P.O. Number	Due Date	Terms			
	10/13/23	Due on receipt			

Item	Description	Quantity	Rate	Amount
Press OS	50, 24" x 18" Yard Signs, 2 Sides, Coroplast w/Wire Stakes	1	443.00	443.00T
		s	ubtotal	\$443.00
		Т	ax (7.625%)	\$33.78
		T	otal	\$476.78



KSWV Radio 99.9 FM / 810 AM

P O Box 1088. Santa Fe, NM 87504 505-989-7441

P-MICHAEL J. GARCIA FOR CITY

1632 JAY STREET

SANTA FE, NM 87505

OrderID:

0294-002

Sponsor:

Product:

P-Michael J. Garcia for City Counc Advertising City Council Dist 2

Estimate/PO:

AccountRep:

House

**KSWV Order Confirmation** 

BillingCycle:

**Broadcast Month** 

InvoiceType: Run Dates:

Times/Rates 9/25/2023 - 11/7/2023

Items Ordered:

70

Gross Amount:

700.00

Discounts:

0.00

Agency Commission:

0.00

Net Amount:

700.00

+SalesTax

57.32

Total Amount

757.32

Scheduled Station(s): KSWV Michael J. Garcia for City Council Dist 2

Printed 9/22/2023 11:58:09 AM

Page 1

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	9/25/2023 - 10/1/2023	All Weeks	07:20 AM - 07:50 AM	1		1		1			3	:30	Spot			3	10.00	30.00
02	9/25/2023 - 10/1/2023	All Weeks	12:00 PM - 01:00 PM	1		1		1			3	:30	Spot			3	10.00	30.00
03	9/25/2023 - 10/1/2023	All Weeks	09:00 AM - 11:00 AM		1		1				2	:30	Spot			2	10.00	20.00
04	9/25/2023 - 10/1/2023	All Weeks	05:20 PM - 05:35 PM		1		1				2	· :30	Spot			2	10.00	20.00
05	10/2/2023 - 10/8/2023	All Weeks	07:20 AM - 07:50 AM	1		1		1			3					3	10.00	30,00
06	10/2/2023 - 10/8/2023	All Weeks	11:00 AM - 12:00 PM	1		1		1			3		Spct			3	10.00	30.00
07	10/2/2023 - 10/8/2023	All Weeks	09:00 AM ~ 11:00 AM		1		1				2		Spot			2	10.00	20.00
80	10/2/2023 - 10/8/2023	All Weeks	05:20 PM - 05:35 PM		1		1				2		Spot			2	10.00	20.00
09	10/9/2023 - 10/15/2023	All Weeks	07:20 AM - 07:50 AM	1		1		1			3		Spot			3	10.00	30.00
10	10/9/2023 - 10/15/2023	All Weeks	05:20 PM - 05:35 PM	1		1		1			3					3	10.00	30.00
11	10/9/2023 - 10/15/2023	All Weeks	09:00 AM - 11:00 AM		1		1				2					'n	10.00	20.00
12	10/9/2023 - 10/15/2023	All Weeks	12:00 PM - 01:00 PM		1		1				2		Spot			5	10.00	20.00
13	10/16/2023 - 10/22/2023	All Weeks	09:00 AM - 11:00 AM	1		1		1			3		Spct			3	10.00	30.00
14	10/16/2023 - 10/22/2023	All Weeks	12:00 PM - 01:00 PM	1		1		1			3		Spot			3	10.00	
15	10/16/2023 - 10/22/2023	All Weeks	07:20 AM - 07:50 AM		1		1	-			2		Spot			2	10.00	30.00
16	10/16/2023 - 10/22/2023	All Weeks	05:20 PM - 05:35 PM		1		1				2		Spot			2	10.00	20.00
17	10/23/2023 - 10/29/2023	All Weeks	07:20 AM - 07:50 AM	1		1		1			3		Spot			2		20.00
18	10/23/2023 - 10/29/2023	All Weeks	11:00 AM - 12:00 PM	1		1		1.			3		Spot			3	10.00	30.00
19	10/23/2023 - 10/29/2023	All Weeks	12:00 PM - 01:00 PM	-	1	•	1				2		Spot			0	10.00	30.00
20	10/23/2023 - 10/29/2023	All Weeks	05:20 PM - 05:35 PM		1		1				2		Spot			-	10.00	20.00
21	10/30/2023 - 11/5/2023	All Weeks	09:00 AM - 11:00 AM	1		1		1			3		Spat			2	10.00	20.00
22	10/30/2023 - 11/5/2023	All Weeks	12:00 PM - 01:00 PM	1		i		1			3		Spot			3	10.00	30.00
23	10/30/2023 - 11/5/2023	All Weeks	07:20 AM - 07:50 AM	•	1	•	1	•			2		Spot			٥	10.00	30.00
24	10/30/2023 - 11/5/2023	All Weeks	05:20 PM - 05:35 PM		ì		i				2		Spot			2	10.00	20.00
25	11/6/2023 - 11/7/2023	All Weeks	07:20 AM - 07:50 AM	1	1		•				2		Spot			4	10.00	20.00
26	11/8/2023 - 11/7/2023	All Weeks	09:00 AM - 11:00 AM	1	i						ົາ		Spot			2	10.00	20,00
27	11/6/2023 - 11/7/2023	All Weeks	11:00 AM - 12:00 PM	1	1						2					2	10.00	20.00
	11/6/2023 - 11/7/2023	All Weeks	12:00 PM - 01:00 PM	1	1						2		Spot			2	10.00	20.00
	11/6/2023 - 11/7/2023	All Weeks	05:20 PM - 05:35 PM	i	4						2		Spot			2	10.00	20.00
	THE PROPERTY OF THE PARTY OF TH	1111 11 00 000	00.20   W - 05.05 FW		1							:30	эрог			2	10.00	20.00

**Broadcast Month Projected Billing:** 

Oct-23

500.00

Nov-23

200.00

Dec-23

0.00

Q4-2023

700.00

Confirmed Correct; Payment Guaranteed

Accepted for Station

#### CERTIFICATION

This report has been prepared with all reasonable diligence and is true and complete in accordance with § 9-3 SFCC 1987; however, a Qualifying Contribution and Seed Money Report of a candidate for Mayor is not required to be signed or acknowledged by the candidate.

Candidate's Signature	Date 10/31/23
Treasurer's/Deputy Treasurer's Signature  Manuel Garcia  Manuel Garcia (Oct 31, 2023 16:37 EDT)	Date 10/31/23
Treasurer's/Deputy Treasurer's Address 618 Garcia Street, Sant	-
Subscribed to and sworn before me this  XAVIER I. VIGIL. Notary Public - State of New Mexico Commission # 1132963 My Comm. Expires Mar 25, 2025	, 2023.
My Commission Expires: 3/25/25	
Received in the Office of the City Clerk at 2:25 (AM/PM) on the 31 8 day of _	October 2023
(SEAL) Geralyn F. Cardenas,	hiterim City Clerk

- The term "contribution" does not include a volunteer's personal services provided without compensation or the travel or personal expenses of such a campaign worker. (§9-3.3(E)(2) SFCC 1987)
- The City Clerk is authorized to reject any incomplete report or form. (§9-3.18(B) SFCC 1987)
- The City Clerk shall assess a fine of one hundred dollars (\$100) for unexcused late filing of reports or forms. (\$9-3.18(C) SFCC 1987)